

Derivative of $y = \ln x$: \Rightarrow same as $e^y = x$

use implicit differentiation $e^y \cdot \frac{dy}{dx} = 1$

$$\Rightarrow \frac{dy}{dx} = \frac{1}{e^y} = \frac{1}{e^{\ln x}} = \frac{1}{x}$$

Example 1: Find the derivative of $y = a^x$, $a > 0$

Transform the function to be a composite exponential function by $a = e^{\ln a}$

$$\Rightarrow y = a^x = (e^{\ln a})^x = e^{x \cdot \ln a}, \quad * \ln a \text{ is a constant}$$

$$\Rightarrow \frac{dy}{dx} = e^{x \cdot \ln a} \cdot (x \cdot \ln a)' = e^{x \cdot \ln a} \cdot \ln a = \ln a \cdot a^x$$

Extra: Question (optional): Find the derivative of $y = \log_a x$

Similar to finding the derivative of $y = \ln x$

$$y = \log_a x \Leftrightarrow x = a^y$$

apply implicit differentiation: $1 = \ln a \cdot a^y \cdot \frac{dy}{dx}$

$$\Rightarrow \frac{dy}{dx} = \frac{1}{\ln a \cdot a^y} = \frac{1}{(\ln a) x}$$

Example 2: Find the derivative of $y = \ln\left(\frac{e^x}{e^x+1}\right)$

Assume $u = \frac{e^x}{e^x+1}$ then $y = \ln u$, and $\frac{du}{dx} = \frac{e^x(e^x+1) - e^x e^x}{(e^x+1)^2} = \frac{e^x}{(e^x+1)^2}$

$$\text{then } \frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = \frac{1}{u} \cdot \frac{e^x}{(e^x+1)^2} = \frac{e^x+1}{e^x} \cdot \frac{e^x}{(e^x+1)^2} = \frac{1}{e^x+1}$$

Example 3: Find the derivative of $y = x^x$

#1 transform the function to be a composite exponential function

$$y = x^x = (e^{\ln x})^x = e^{x \cdot \ln x}$$

$$\frac{dy}{dx} = e^{x \cdot \ln x} \cdot (x \cdot \ln x)' = e^{x \cdot \ln x} \left(\ln x + x \cdot \frac{1}{x} \right) = x^x (\ln x + 1)$$

#2 take logarithm on both sides, $\ln y = x \cdot \ln x$

apply implicit differentiation $\frac{1}{y} \cdot \frac{dy}{dx} = \ln x + x \cdot \frac{1}{x}$

$$\Rightarrow \frac{dy}{dx} = y \cdot (\ln x + 1) = x^x (\ln x + 1)$$